
ChaPter 3. LooPing and RePetition

rhe seottencc ol ncrrt iol procl ut"tsand. by definition. the infinite prodrrct is said
-é

to-g* .1*nce of partial products comrelges'

In this part of the exercisel you are to study the infinite

following two t-vPes:

products of the

(1) fl(1-,,,), (:2)

where a, : ll(nn ,;ï. a, values P : \,2,3'

f[ it + o"),
n:7

SpeciÍical1v:

Set up two dirnensional arrays prodl and prod2 and use them to store th'e

values of the partial prod'cts for n : f'"''faO and p : !'2'3' Then

displayt}reinÍbrmationgraphically(asyoudidforseries)u,'ithfiveSequences
of partial products ir, ,frï ru*u piàtures (five colors rn ill help you keep things

straight). The five ruq,""t"t should be 
l.he 

tvpe (1) products for vt:l'2'3'
ura ir,,"'ti'pe (2) procLucts for p : 2'3' From your picture' try to determine

if the infinite proilucts .o"t'"'g" and to what values' Annotate vour picture

with the results. What happens in the type (2) procluct fot yt : l'r

6.(Newton'sMethod)Usetheco{e.fromthecasestudy(cf'theCD-RO\tI)
to fincl, approximateli, ali roots of the equation /(r) : 0 rn the interval -I'

where / and I are Íïoí one of the items belorv. Also: (i) produce the graphics

showing convergence of Newton's method to the root (or roots) , (ii) compare

theresultsfoundbyourcocier'viththeresultsfoundbyusinglVlaple'sfsolve
commanc-l, and (iii) annotate your graphics appropriately'

(u) /(') : 12 -r4 - 0'1' for r in I :l-l'2'l'2)'

(r,,) /(") : 13 - r - 0'2' for r in I: [-1'5' 1'5]'

(.) /(r) : sinr - cos2r * 0'2, for i" 7 : [0'6]'

7.(IteratedMaps)\\brktheexercisesontheCD-RON{inCDChapter3that
|ertain to iteraled maps of an interval into itself'

9.4 MaPle/CalculusNotes

3.4.lRiemannSumsandtheDeÍinitelntegral
\lost calculus books motivate and define the definite integral Í: Í (") lt
inprettymuchtheSamelvay.However.thereareslightdifferencesinthr
definitions and the notation, and so we summalize a common apploach here

Youshouldconsultyourcaiculusbookforhowthisisdoneasweilasreadinl
this.

:


